
���� ���	
�  ���
 ���BET  ��� ����� 
 �	�Nova e 2200 

���� ���	
�  ���
 ���BET  ��� ����� 
��� Nova e  ��������� Quantachrome  ���� ���	
� � ���� !����" ��

�
 ��� ��BET #$% ���� ���	
� & ��� ����� &  '��� #$% ���� ���	
� 
 '(�)�* #$% 
 '�+�,��	�+" '�.  

��./� ���� Quantachrome 0��1�	�23 4  � �������� ���	
�  ���
 ���BET ��� ����� 
  �	�Nova e 2200  03

 �	
0�3 �"'� '5�� ����� )�/+
6 
 ���
 ��� �7+8� ���� ���	
� 03  +" ��9�� 
 '��0+� 	�+" . )�/+
6 ���
 ���BET  ����� 


��� ��� Nova e �� ��	2+:� ���" �	� �:2 ��0�3�;3 +" �+<�<�� 4,2 03 �+�
 30 '� +2 �+.:�+��6 '�+,� 03  . 	�+"  

 ����Quantachrome �0�1 � ���� !��=>" �	�23 4 )�/+
6
 ������ BET ��� ����� 
 
 �0� )�
1 �+�	? !��=>" �	�23 4

�0� & '
+@�=:A 
 B�
�� 
��,C�41 '� & '@
+% D���/ 
 '�	� �+C�; �	�23  E�=�� �+2 4�+
�" ���" F�+�� ����� !�� . 	�+"

'� +2 �+.:�+��6 '�+,�  . 	�+" 

 ���
 ��� ����� ����
�  ���!BET  ��� ����� 
 �	�Nova e 2200  

���� ���	
�  ���
 ���BET  ��� ����� 
 �	�Nova e 2200  ��0�3 4*�G 4" H
�<� �,�;– " F�+���4,2 03 0+� �� 

 '�+<�<�� �+2 �+.:�+��6  

 ���	
�����  �7+8� ���
 ���BET  ��� ����� 
 �	�Nova e 2200  +"I'/+J�� �+K* H3�� ���? L�- )�/+
6  ���
 ���

BET  ��� ����� 
 �	�Nova e 2200 '� �+J�� '2+.:�+��6 0+� )�� �
0 �" �0 !(,� �+K* !��=,�  	��.  

)�/+
6  �7+8� ���BET  ��� ����� 
 �	�Nova e 2200 2+.=�3' �0+� 	�N –  ���
 �+2 O��(� �� 'C��
 �3
	��

 ����=� 3��� 
 +203�A ���".3��� '� �" 03 �0  

��P�+� '"+�=
� �0�G 4" ��–  �,Q +� 0�)*� D�
 ��5�A �� �3+9=�� H6 �<=8� 3�� 03���� ���	
�  ���
 ���BET  ��� ����� 


 �	�Nova e 2200  

  

  

  

  

  

  

  

  



 ��"  ���
 ���
 ��� ����� ����
�BET 
 � ��� ���� �	�e 2200Nova   

  3�(�,Q D+,� O��+�������� ���	
�  ���
 ���BET  ��� ����� 
 �	�Nova e 2200 – �<
�� 4&  )�/+
6BET 03

 �� �=,�8 ( 4
�,
 �" ) 4<�;3  

  T��� D���2 4" �+�
 U$7 �V�/��(� )�/+
6 ��./�NO Void  )NOVA (  

  �" W/+" )�/+
6200  �� 4�<
 �3�3 T���	
���� ����  �7+8� ���BET  �	� ��� ����� 
Nova e 2200  )

100 
 �+� '��� #$% 4�<
100 ( �+� #$%�
 4�<
  

  T��� 4
�,
 
3 4�>�X?Y  T��� 4"+:� �+2 	=� +� 
 �+�� H+��% Z�
 +� 
64
�,
 )�/+
  ��� �7+8� )�/+
6 03BET  


 '5�� ����� �	�Nova e 2200 – �
 30�� E�=�� �+2+�3 03�+  

  L=8��'��3��+�  YX? +� 
 ��+� �+�� Z�
 [��+? / !�
0 ���" )�/+
6 ��] 03'��3��+�  )�/+
6 49;
 T���  

  T��� �+QX]� H300
6 ��3 4"6 3�%�� �+2 H+��% )�/+
6 ���" ����P�+� ^��] �� +2 �3�3 3��A)�/+
6 03  ���
 ���BET 

 ��� ����� 
 �	�Nova e 2200  

 H�����@�/+� �� U$7 +? L57 D���2 T��� O��X� 	=� 03 '/���� ���	
�  ���
 ���BET  ��� ����� 
 �	�

Nova e 2200  

  T��� +2 �3�3 �+<=
�RS232  �� 4�<
 �.A+N +� 
 03���� ���	
�  ���
 ���BET  ��� ����� 
 �	�Nova e 

2200  
  0+��+� 0�)*� D�
 T��� 4=*�:�A '��0+� +"Windows  

 " T��� _��=� '��0+� '�0� H�����@�/+� `������� ���	
�  �7+8� ���
 ���BET  ��� ����� 
 �	�Nova e 

2200  
 ,2 �	
0�? ��a '"$% �+2 �+� �� �3+9=��b H��06 H�، 2CO  '�+�3 �+2 �3
	�� '�+,� 03 O@� !"��
0	�2 
 ���	
� 03

�� #$% & '��� #$% ���� '(�)�* #$% 
 '�+�, �	�Nova e 2200  

 0+�0+��+� '�� )�/+
6 03  ���
 ���BET  ��� ����� 
 �	�Nova e 2200 –  _�
6 ) 30�3 H6 ��C;�� 4" 4=8" )�/+
 

BET +� 
����� '5��  (  

  

  

  

  

  

  

  

  



#�$%�& ��" ���
 ��� ����� ����
�BET  ��� ����� 
 �	�e 2200Nova    

  	7�
 H6 03 4
�,
 0+>N �" W/+" )�/+
64� �0�G 4" +� 
 H+�� L2 �0�G 4" 
  �	C"0)� +
6 T���  ���
 ���BET  


 ��� ����� �	� Nova e 2200'� ���� ���	
� 3��.   

  T��� +K* ��+� ���?I4  4
�,
 ��+� �3+�6 �0�A 03���� ���	
�  ���
 ���BET  ��� ����� 
 �	�Nova e 

2200  
  4C��� 
 ^�<�� 
 ��9�� ��=�� ���" ���
 ��� ����� )�/+
6 �+23�"+�  

 �� ���	
���  ���
 ���BET 5�� ����� 
 ' #6 
 �+� ��+��	% ) �	
�� #$% �+2 �3+� & +2 O�=�  ���" !"��

 & ( �	� ��+� c/+?�0)�/�.A+N & �2�% & ��+� �+2 O�+�  

 +
6)�/  ���
 ���BET 5�� ����� 
' /+�+��+20
) ��"� +�G &3�� &
03�?�` +�G 
 �?���` �
�=A�,'  

 ���� ���	
� +8� �7��
 ��� �BET  ��� ����� 
 3���6 ���" '/
+�0� 3����O ��"� *�����+�
�� &F8N'&  D���/

�06�:'& �$a 3���'�& �� 3����&�	� �0 &��59�� 3����! +2�  �3+@��
�'& +2
0�3� +A��'� =�XA 
�O.  

  )�/+
6+8� �7 ���
 ���BET 5�� ����� 
 '
	C� 3���' ��/6 	�
+��&+� 2 &d0�8�
0	' �+A6�&� 
0�	. �+98* &+2 4


� &+2����+( � &+2�
����+ a 
�&�� ��"� +��&�	� " 3��� &#I+%�V�/��('& �����&O ��&H+,  &+2 �	����A &+2 !� O:?

� �3+9=�� +2 e
0 
 +2 $a+�' 3��.  

 ���� ���	
�  ���
 ���BET 5�� ����� 
 ' 	�8�
0	�2 
 �	� 03�A ��)�*6 !2�" / 0+:* �(� & +2 ���+" ��

 ����& ( �30�? f�A ) L? 
 f�A �A �  & O�

�=(/�]+�J��8' ]+�J� 0��
 
�8'.  

 +��� +2 4�+
�"� 3�"0+�� ��P�+� 3��� &H���=�� 4" g�"���='& /��&U+ #+a
3 &!5/ &h+? &��� D�*  ���a 
 

  T��� �+�
 30�� ��+=
 	�/��
 ��� �7+8� )�/+
6 ���BET 5�� ����� 
' 

o  4�<
 	�N 
 O�B.E.T�� .+" � y-intercept �"+i &"C"� &�F �j 
�F .=8@,2' 

o  �" W/+"100  +�3 L2 g+<
 03 #$%�
  +� 
 4�<
  

o  B.J.H'�+�3 L2 �/+7 03 #$%�
 +� 
 #$% �(� �� �	� ���� ���	
� ����� )�+� ��j��  

o  ����� L57 '�+,�  

o  ����� _+C� !�.
+��  

  

  

  



 %��'� (�
 ���
 ��� ����� ����
�BET ����� 
  ��� �	�e 2200Nova   

 � 4<����
�(��97 Dubinin-Radushkevich & ��0�3� k�Q�0�A
�(  T��=�V�
� 
� #$% . ��� 

 ��� ,.
 �� +" ��&F & �j�F .=8@,2 
 �"+i' ��� ���,2.  

 � 4�<
 O�� B.E.T .�� ����! C"+� H���Q 4"' @8
 0+:* ��' .���  

 [
0 t ��"� � L57 
 4<����0�A
�( )Halsey& deBoer  
�+2	=� � !"����+( 3�� '� �3+9=��. 

 �+@�+�� 4=�8
�3 �0�l� ��" 3�(�,Q� ����` � ���	
��0�A
�(  +2  

  ��+=
 �� H+��,]� ���"  +" ��9�(" '
���" �+@����  

 '/+Q �0�	�+A +" 0��+�0�98
��� 0+:* � +" ���+87  

 +2 �+� 4� �	
�" +" '�0��7 ^�+Q +" �0�	% 
3 L(�� 4m9�� . 	�+@�� H3��0+� �"+;  

 * ���
��=� ��"� ���%��� �3�/6 ��' ��L=8 +2 4
�,
 +" YX?� .03�A  

 +; '8�]+�J� 4b�03 ) ^�0)� D+.�2 03 �:
 �� �0+Q 
 H+��,]� �"cc/sec 10‑9(  

  F�+�� 4
�,
 ��+� �3+�6 ���" �+�
 30�� H+��,]� �"+; ��+=
  

 �2 ���+.=8 >��4 ��� ��� 4
�,
�T  YX?�+ �%�H+ � L2��* �0' .3�� 

 BA �� 3+,5
� YX? +" ��2D� �+ #I+% 

 �3
	�� +�3 +� 450 4%03 �=
+�3��. #+�=
� +" *  �0�G 4" H6.�<=8� 

 �% Z�
 #+�=
��H+ ��"� � �2��+.=8. 

 +2	7�
� �+�� � 	�N H3����+.=8 ��"� +��6��+.:  +2 : 4
�,
 	�,��2 ��+� �3+�� & H+��% YX? '��3��+� 
XeriPreps  

  

  

  

  

  

  

  

  

  

  

  



 )�*�� ���+� ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova   

  

  

  

  

  

  

  

  

  

  

  

  

 �+� 	j H+��% +� YX? 

 ':�+��� 4m9��  

 p�+��� ��=��'��3��+�  

 +2 �3�3 p�+,
 4�9j 

@��� )�/+
6 30 

 L=8�� ��C;�� p�+,
 4�9G 

 '8
 �
�� ��� 0�8�� 

2  +�4 4
�,
 

 +" �0�	% 
3 4m9��  '(��+���� �	
�" 

�0�A RS232 ��"� =?� ��=���0+� 

PC +" 0�)*� D�
 �� �3+9=�� 

NOVAWin 



 %��$ ��"  ���
 ���� ���	
� ���
 ���BET  ��� ����� 
��� Nova e  

e 4200 Nova   e 2200Nova   3�(�,Q �+2 ���"+;  

    6/+
 )� ��� �7+8�  

    
)� )�+� `�j��A0�   

     0�A
�(�� 30�	
+=�� 	=�  

4  2   )�/+
6 ��Cj
 �	�23 H+:
  

  
  

   ���"+;" +2 �+� '�+,�"   

  

������  ���� ���	
��
 ��� ��BET  ��� ����� 
��� Nova e  

 4�)5� 
 ����� H+�),2 0+>N 4
�,
 +" � ���	
���� 
 ������ BET �� ��� ����� 
� Nova e ���" p��)*� ��.,:N 

��>" �0
. 

 � ���	
����  �7+8� ���BET �� ��� ����� 
� Nova e ���" �q��	7 '�+
��� D+5
� 4�)5� 
 ����� 4" 0+>N 4
�,
 

L�8<� '� ��3. 

 4�)5� 
 ����� &0+�3�? &�+@�+�� p�+,
 
 r+N ��+=
  T���� ���	
���� 
 ������ BET �� ��� ����� 
� Nova 

e. 

 #+�=
� 4�9G 	��� �� 3�	C� �3
	��+
 �� _��
� 4�)5� 
 ����� 41�0� `��� ��0 ���	
� 3	5�. 

 _��
� '9�=�� �� ���� �+2 4
�,
 ���" '�+5"+% �2 4
�,
 )�/+
6 03 ��� 
��� BET �� ��� ����� 
� Nova e. 

 �]�7' `,% 
 0�% ���" s97 �+K* +" [�0� '2+.:�+��6  T���� ���	
���� 
 ������ BET �� ��� ����� 
� 

Nova e. 

 #03 �+2 '=t+97 ���" '�,��.   

  O��(� �+2 	=� '�0�"  

 !* �0
6 ��+� �3+C� +" #+�=
� �,�� &0+:* H+�� �3+C� 
 0+:* '@8
 )P / Po.( 

 4��)� �+2 4
+�	�N ���" �Q�� 
 �;3 :�"0+� 30�
 &�	� 4@�+�� �	� �� &T��� ���	
� ���� O� &0+" 
 +� 4" 0�] D
�	� 

03 ��] 4�)5� 
 ����� 4" �
0 �	� ��� 

 4=?+� �	� 03 �	
��3�A)�0 ���	2 H�����@�/+� ���" 3�(�,Q #���� ^"+�� +" �+�
 ISO-9000. 

 c��:� �/+7 '=�3 ���" 	��u� 
 �0�	>.
 3�(�,Q � ���	
���� 
 ������ BET �� ��� ����� 
� Nova e.. 

 p�+,
 H+�� 'C;�
 ��Cj
 4�)5� 
 ����� ���" 4" �
0 '
+�0 �"0+� �� �*�:�A 4�)5� 
 �����. 

 	��+� `��� H�����@�/+� .H�����@�/+� T<*  03	�N 4<�;3 D+5
� '� 3��.  

  

  



 �%
�,
 
 �#�-*���# �$ 
 .�� �� �/ ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova   

 �V�/��(� NO Void Analysis (NOVA)  03� ���	
���� 
 ������ BET  �	� ��� ����� 
Nova 2200 e 

& D���2 �0 U$7 '� 	�� 
 4��)2 �+2 H6 �0 p2+� '� 	23. 

 4" �+% &H6 �� �/+7 O��X� D���2-L57 '/+? ���" �<"+�� +" SOP �+2 3�%�� 3�? �3+9=�� 	���. 

 0�8�� ��� O�? �	��� )�/+
6 
 ������ BET  �	� ��� ����� 
Nova 2200 e ���" L57 0�	�+A �"+i 
 �;3 

 +" 4" H���Q O�? �	��� ���@� '� 3��. 

 L=�0�./� MaxiDose � ���	
����  �7+8�
 ������ BET  �	� ��� ����� 
Nova 2200 e H+�� 4�)5� 
 

����� �0 H
	" 4" ��? !=?�	
� �;3 p2+� '� 	23. 

 ���"+; �+2 ��� !��+A +" H��@% #$% �" �
0 �0���3 �+2 '/���. 

 03 '] O� 4�)5� 
 ����� 4" �+���3 '��=�3 4=��3 	��+" +� H+��% 0� E;�=� .	��� 

 +" 3��A6 H3�� �3�3 +2 4" ����P�+� �� 4�)5� 
 ����� �0+% +" D�
 0�)*� Nova& "�+QX]�" �0 03 H+�0+�=?� 0��; 	�23.  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



 ��
�,� ��"  +
�0  ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova  

 p�+,
 �
+A '���% ��+=
 BA �� D+,�� �����. 

 	�/�� [0�)� 0+�3�? �" �
0 �.A+N �0+�=?�. 

 �0��;�" g+@�0� +" ����P�+� ���" L�m�� 4�)5� 
 &����� `,% �0
6 �3�3 +2 
 [0�)� '23. 

  

1�2�3�� 4�5 6�'  ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova  

 4" �"0+� ��+%� '� 	23 +� �(�
�A �+2 4�)5� 
 ����� �� p�A !��C� �	� �0 3+5�� 	��. 

 �Q�� H	�:�" 4" �+��,Q +" p2+� �3
0
 30�� �+�
 ���" _
�� �2 ��%�. 

  

��	� ��7*���  ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova  

 ��=�� 3�9"����� �+,�m�� �	��� 	�
+� �+,�m�� RS232& �+2�=��0+A '�+��,Q &'
���" ���	
� ���� D��
)�� +� 

��3
	�� �+2 '�+��,Q.  

  

  

  

  

  

  

  

  

  

  

  

  

  



�%��'� (�
 7*���Nova Win   %# ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova   

NOVAWin O� 4�+
�" '�=@� �" ���" 4� ��� ����P�+��3+9=�� �� ��� �+2 NOVA �� �+20�)"� 30�� �3+9=�� 03 L=8�� 

��+Q Microsoft Windows '� 	�+" .�+20����A� NOVA !��  '�+
����0 �	�A 	�2��? 3�� 4� O� T��� 	�8A�"0+� 
 '(�*��� 

�"�� 0+�  . 	���  

NOVAWin ��+� !�	�N �+� 4"�5� 03 4���� ����� ��0I �� ^��] Quantachrome Instruments '� 	�+" 4� ��+� 

�3+9=�� �� [
0 �+2 �3�=8� �� ���" p2+� �3�3 +2 
 	�/�� [0�)� 03 !�� 4=8" D�
 �0�)*� 	�N �0�m�� '� 	�+".  

 ��0 ���	
� 
 ��=�� PC '�=@� �" NOVA 4�)5� 
 �����. 

 p�+,
 '�+�3 L2 03 "H+�� 'C;�
" 03 ��] 4�)5� 
 �����. 

 ���?I �+,�m�� 4�)5� 
 ����� ���" �0
63+� `���. 

 0+��+� +" +@��<� �2 �.A+N� �� ^��] L=8�� ��+Q Windows. 

 4" �2 p�" �� O� U��� '�+,��0)" 	��� 
 !��=>" T? ���" �2 4Q�,5� �� �� +<
g �3�3  . ��� D+5
� �"+; +2  

  

  

  

  

  

  

  



 �" �#�# 4"�& ���$ )�*�� ��" 	*� 8��*
� %# ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova   

 D��
)�� �+2 #$% 
 #$% )d+�<� �+2 '�? 
 ',=�0+./ (  

 �7+8� ��� BET 

 ��� ��,.
  

 L57 0�A
�(�� 
 ��� H6 +" [
0 t-plot )� 3+C� Halsey& deBoer +� !"�� STSA( 

 �7+8� ��� 0�A
�(�� Dubinin Radushkevich 

 4<��� 0�A
�(�� Dubinin Astakhov 
 `���� ���	
� 

 `���� ���	
� H+A�8
+�� +" [
0 BJH 

 `���� ���	
� Mesopore T��� [
0 DH 

 `���� ���	
� 0�A
�(�� +" [
0 MP 

 �0�l� 3�"0+� L���� ���" 0�A
�(��  +P(� 4N0
 `���� ���	
� & �� 4�,% +>"I+% 
 �9% �+2 &#I+% 4" H���Q �+q� .H��06 

�
0 &��/�1� HV
�=�
 �" �
0 &B���� CO2 03 !"�� 
 ���a 

 3+C"� �+=���* 4" [
0 �+2 NK 
 FHH.  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



  �' 1�9�:� ���� ���	
� ���
 ���BET  ��� ����� 
 �	�e 2200Nova   

e 2200@ Nova    '��0+�� ���	
���� 
 ������ BET ��� ����� 
  

2   )�/+
6 ��Cj
 �	�23 H+:
 ��� �7+8�BET 

B.E.T.& STSA& D��
)�� &#$% D��
)�� #$%   ���� ���	
� _�
 )�/+
6
 ������ BET ��� ����� 
  

m2 / g 0.01 03 	7  +" 4=?+�� �	� �8�
  ��� )�/+
6 �3
	��  ���
BET  

0.35 to >500nm (3.5 to >5000 Å)   ����� )�+� �3
	��� ���	
���� 
 ������ BET ��� ����� 
  

(liquid) 2.2 x 10‑6 ml/g   4
�,
 L57 �;�	7� ���	
���� �7+8� 
 ������ BET ��� ����� 
  

(STP) 0.0001 cc/g   4
�,
 L57 �;�	7)�/+
6 
 ������ BET ��� ����� 
  

�	
�� #$% �+2 �3+�  

 
HV
�=�
  

 
 �	
0�? ��a �+2�+� ��+�Ar, CO2, H2, C4H10 ���a 
  

+2 �	��� �+� 	j  

2 ��+� �3+�6 �0�A )�/+
6 
 ������ BET ��� ����� 
  

�+�� H+��% Z�
 
 YX? +2 	=�  

 '���� �+�3-450� 4%03 �G��* 4" 3��� '=
+1  4%03

3��� '=
+� 

'�+�3 �3
	�� � ���	
���� �7+8� 
 ������ BET ��� ����� 
  

ºC ±5 �;3  

0��+�0�98
���  0+:*  

±0.1 �;3  

0.016 0+:* !��/
�0  
5-2x10 '@8
 0+:* !��/
�0  

'(�)�* �+��:�  

51 cm x 51 cm x 79 cm 3+C"� � ���	
���� 
 ������ BET ��� ����� 
  

6.293 kg ( 80 lbs ) H�
 )�/+
6 
 ������ BET ��� ����� 
  

100‑240 V, 50/60 Hz '(��=(/� �+��:� � ���	
���� �7+8� 
 ������ BET ��� ����� 
  

  

  

  

  

  

  

  

  

  



;:5� ��"  ��#����   

  ���� %,�<�% =�*
,�  

Q3�(�, F�+�� Nova '
+�� 4� L�m�� �	��� �+2 �+� +" ��9��  +" �3+9=�� '� 3��& H+��,]� �G+7 '� 3�� .Quantachrome 

41�0� 4Q�,5� �+2 ��+� ��+� �+20�� ��0 
3 4�7�� +" 
3 &�	�5�� �+��� &0	���� 4b�03 ��+��	% 
 T? 1/8 " 'b����+� �

��� .L�m�� �	��� �� 3 �* 	j &e
� L���*+�3 ��a ��m=�� 
 F�+�� � +��� CGA ���" �+2�+� v+? �3+9=�� '� 3�� .4Q�,5� 

�+2 E�=�� ���" HV
�=�
 )
 ���a �.�3 �� 4�,% D���2(& &HV
0	�2 	�8��
�� &!"�� �+2�+� 	�8�� �	��� 
 ���a '�  .	�+"  

  >
,2
 ���� �#���  


��+= �
+8� �"+i 
 �"+; H+��,]� '.=8" 4" [
0 �+2 �3+�6 ��+� 4
�,
 �� 30�3 .�� �m
 B.E.T .4�)5� 
 &����� D+� 3
	�� 03 

H�)�� ��>" �0
  03 F�a� �3+�6 ��+� 4
�,
  +2 ��� .3+,5
� ��+� 4
�,
 +2 !(,� ��� F�a� 	�N �Q+� ��] &	:(" 03 '/+7 4� 

���	
� ���� �+2 ��� !(,� ��� 4" ���	
� 8 4<�;3 ��] 	:(" .��� NOVAe ��0�3 �3
0
 �+2 4=?+� �	� 03 YX? +� H+��% 

4
�,
 ��� 4� ��+%� '� 	23 +� U+�C
� ���$A H+�),2 �� 4
�,
 +2 03 '/+7 4� ���	
� ���� 03 �+7 D+5
� ���'� �0�G &  . 3���  

  

 Micro Rotary Riffler  

2	�
+, �0+�8" �� '���
 �+2 3��� 03�A 
 &����=� �+C/+�� ���	
� ��� 
 ���	
� $*+�� 4" 0�] '�� �+�
 4" 4
�,
 �+2 ��� 0+�8" 

�=(N�� �� 4
�,
 �+2 '�G� ���. Micro Rotary Riffler �� [
0 ^�;3 �� ���" L�8<� O� 4
�,
 03�A 4" �+C�; �=(N�� 

�3+9=�� '� 	�� :p?�N .�A '�+C�0� ��0�3 ���"+; 4�$J� �"+; L�m�� 
 `,% �	��� +" �Q�� ��J=� �� 4/�/ �+2 30�	
+=�� +� 
�(�� 

�3+9=�� '� 	��.  

  	�2?," ���� �#��� ��#����   


	7� �3+�6 ��+� X�+� 4=8%�" �+.=8�� �+2 4
+��	% ���':�+ +" 
�A��* '�+��� 4�+
�" �)�0 �	� ���" ^�<�� 
 &4C��� �+.:�+��6 

�+2 �0+5� 
 �+.:�+��6 �+2 	�N ��"0+� .
3 �/+7 )YX? +� H+��% (���" U+�C
� ���$A �=:�" 
 4��>" ��+�& ��=�� +�3 
 3
0
 4" 

L=8�� �� ^��] D�
 0�)*� PC )��+� .(�+.=8�� �+2 O�? �	��� 4N0+P(� :�" '=7�0 ���"� L2��* �0 �='  . 	��  

  



  ��#����  FloVac  

FloVac �?�� �)�3 YX? �0 H��0� �� '� 	�� . �0�G 4"��+� +"  O� 0+�"4<��� )+� 400 4%03 3��.�=
+�(& ��=�� +�3 �+=�5�3 


 4=?+� �	� 03 5�� pYX? �+=�5�3 ��� .�2 �+.=8�� 4
�,
 ��0�3 ��=�� H�)�� 4����  /'.=*0
�* �"+; L�m�� ��� .0+59
� 

H+��% )�
 H+(�� ��$A ��� 
 '� 	
��� 03 F���� ��3+<� �3+�� �� �"�]0 �@; �� 3+,5
� YX? 	�+" .�+.=8�� �+2 O�? �	���  03

 . 	�� ������% 0+59
� �� +� 3��.�� 0��; +2 H+(� !��  

  

  


